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Question Number : 1 Question Id : 70819121004 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In a typical combustion engine the workdone by a gas molecule is given by

W = HEBU KT, where x is the displacement, k is the Boltzmann constant and T is the
temperature. If a and P are constants, dimensions of a will be :
Options :

; 2
70819168161, LM LT 7]

g0 ]
70819168162. Lot

/ 1
70819168163. Sl

12 2
70819168164, | M7LT 7]

Question Number : 1 Question Id : 70819121004 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 2 Question Id : 70819121005 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one is labelled as Assertion A and the other is labelled as
Reason R.

Assertion A :  Body ‘P’ having mass M moving with speed ‘u” has head-on collision
elastically with another body ‘Q’ having mass ‘m’ initially at rest. If m <<
M, body ‘Q" will have a maximum speed equal to ‘2u’ after collision.

Reason R : During elastic collision, the momentum and kinetic energy are both
conserved.

In the light of the above statements, choose the most appropriate answer from the options
given below :

Options :

70819168165, Both A and R are correct and R is the correct expla_natifm of A.

70819168166. Both A and R are correct but R is NOT the correct explanation of A.

70819168167 A is correct but R is not correcL.

70819168168. A is not correct but R is correct.



Question Number : 2 Question Id : 70819121005 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 3 Question Id : 70819121006 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A planet revolving in elliptical orbit has :

a constant velocity of revolution.

has the least velocity when it is nearest to the sun.

its areal velocity is directly proportional to its velocity.

areal vc-locit}-' is itws:-rsc-l}-' pmportional lo its velncit}-'.

mYN® >

to follow a trajectory such that the areal vEIC}Cit}-‘ is constant.

Choose the correct answer from the options given below :

Options :



70819168169, “* O™

70819168170, © °nly

70819168171, D only

70819168172, L only

Question Number : 3 Question Id : 70819121006 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 4 Question Id : 70819121007 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Find the gravitational force of attraction between the ring and sphere as shown in the diagram,

where the plane of the ring is perpendicular to the line joining the centres. If Y8R is the

distance between the centres of a ring (of mass ‘m’) and a sphere (mass "M’) where both have
equal radius ‘R’

m M
R R
X | BR Y
Options :
B GmM

"Jlr. R_
70819168173. ~

£ - GmM
70819168174, ° R
1 GMhm

: = )
70819168175, V8 R

2 xff ‘ GMm
3

3
70819168176. R~

Question Number : 4 Question Id : 70819121007 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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J8 GmM

L

70819168173. 2/ R”
V8  GmM

70819168174, Y R
1 GMhm

¥

70819168175, 3¥8  R?

2J2 GMm
3 R?

70819168176.

Question Number : 5 Question Id : 70819121008 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Four identical solid spheres each of mass ‘m” and radius ‘a’ are placed with their centres on
the four corners of a square of side ‘b". The moment of inertia of the system about one side of
square where the axis of rotation is parallel to the plane of the square is :

Options :

4
g maZ + 2mb?
70819168177.



8
—maZ+ 2mb?
70819168178.

8 maZ + mb?®
70819168179.

]
—ma—
70819168180. 2

Question Number : 5 Question Id : 70819121008 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 6 Question Id : 70819121009 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A large number of water drops, each of radius r, combine to have a drop of radius R. If the
surface tension is T and mechanical equivalent of heat is |, the rise in heat energy per unit
volume will be:

Options :

'Elf_ _l]
iz KR!
70819168181,
3T(1 _ 1)
70819168182, | T R/
3T

70819168183,

T

70819168184,

Question Number : 6 Question Id : 70819121009 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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70819168181, J
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Question Number : 7 Question Id : 70819121010 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The normal density of a material is p and its bulk modulus of elasticity is K. The magnitude of
increase in density of material, when a pressure P is applied uniformly on all sides, will be :
Options:
oP
70819168185,

70819168186.

70819168187.

70819168188. F

Question Number : 7 Question Id : 70819121010 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

el
70819168185. K

LS
70819168186, PP



pK
70819168187. P

PK
70819168188. P

Question Number : 8 Question Id : 70819121011 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Assume that a tunnel is dug along a chord of the earth, at a perpendicular distance (R/2)
from the earth’s centre, where ‘R’ is the radius of the Earth. The wall of the tunnel is frictionless.
If a particle is released in this tunnel, it will execute a simple harmonic motion with a time
period :

Options :

2R

70819168189. ©

Question Number : 8 Question Id : 70819121011 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
2wR

&
708191681809.
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&
70819168192, 27R

Question Number : 9 Question Id : 70819121012 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The temperature 6 at the junction of two insulating sheets, having thermal resistances
R, and R, as well as top and bottom temperatures 6, and 6, (as shown in figure) is given by :

...... 8
R, -
6
R, _
| 0
Options :
0;R5 + 05Ry
70819168193, 1t Rz
0;Ry + B,R,
70819168194, J1 +R2

8RRy — 05R4
Ry — Ry

70819168195.



8,R — 8R4
Ry — Ry

70819168196.

Question Number : 9 Question Id : 70819121012 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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H'-l RE + Hz R'l
70819168193,  *1 +R2
B Ry + 65R,

70819168194. K1 + Ry

B1Ry — 8RRy
70819168195. Rz - Ry

B8R, — B4Ry
70819168196, 2 Ky

Question Number : 10 Question Id : 70819121013 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A particle is moving with uniform speed along the circumference of a circle of radius
R under the action of a central fictitious force F which is inversely proportional to R3. Its time
period of revolution will be given by :



Options :

70819168197.

3
70819168198, | * R

70819168199, T=R?

b |

TxR
70819168200.

Question Number : 10 Question Id : 70819121013 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

- & -~

A L = - o
= et | RI l'-' - | L 2ol 7l &L L&)
""'"V"H‘. — ¢ [ |—-|':- P ¥

. l

-y

.. oo e |
lril F s/ prhseo rhe 2oed R = bt nit!

w A

L -

B A T N -
1793 (RS

Options :
3
70819168197, 1 * R?

4

q
70819168198, I *R°
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70819168199, | wR=

5
70819168200, T * R2

Question Number : 11 Question Id : 70819121014 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If two similar springs each of spring constant K | are joined in series, the new spring constant
and time period would be changed by a factor :

Options :

70819168201.
70819168202.

70819168203.

=z
70819168204, *

Question Number : 11 Question Id : 70819121014 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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12
70819168201, 2

llg\ﬁ
70819168202. 4

-1,2¢E
70819168203, 2
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70819168204, 4

Question Number : 12 Question Id : 70819121015 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Find the electric field at point P (as shown in figure) on the perpendicular bisector of a

uniformly charged thin wire of length L carrying a charge Q. The distance of the point P
: g 53

from the centre of therod is a= —4 L.
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Question Number : 12 Question Id : 70819121015 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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70819168205, >TEoL
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70819168208, 2¥3meo L

Question Number : 13 Question Id : 70819121016 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Consider the combination of 2 capacitors C . and C » with C 5> C v when connected in parallel,

the equivalent capacitance is 7 limes the equivalent capacitance of the same connected in

.Cp_
series. Calculate the ratio of capacitors, C_l
Options :
2
70819168209, 13



15
70819168210. 11

15

70819168211, *
m
70819168212, U

Question Number : 13 Question Id : 70819121016 Question Type : MCQ Option Shuffling

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

70819168209. 1°

70819168210. 11

15

70819168211. 4

111
70819168212, 80

:Yes

Question Number : 14 Question Id : 70819121017 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



An alternating current is given by the equation i=1, sin wt+1, cos wt. The rms current will
be: :

Options :
i |
= iy + 12)
70819168213. V<

1 (i + is)?
= 2
70819168214, V2
1
1 (2, 22
LA L
70819168215, 2

70819168216.

Question Number : 14 Question Id : 70819121017 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
1
— (i) + iy)
70819168213, 2
5
—= (i + i3)
70819168214, V2
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1 R
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70819168216.



Question Number : 15 Question Id : 70819121018 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Five equa[ resistances are connected in a network as shown in figure. The net resistance
between the points A and Bis :

D
RE
R R
T
E “ﬁ“ C
Options :

2R
70819168217.

R
70819168218. 2
70819168219, K

3R
70819168220. 2

Question Number : 15 Question Id : 70819121018 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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R
70819168217.

R
70819168218, 2

70819168219, R

SR
70819168220, 2

Question Number : 16 Question Id : 70819121019 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A short straight object of height 100 cm lies before the central axis of a spherical mirror
whose focal length has absolute value |f| =40 cm. The image of object produced by the
mirror is of height 25 cm and has the same orientation of the object. One may conclude from
the information :

Options :
20819168221, mage is virtual, opposite side of concave mirror.

70819168222, Image is real, same side of concave mirror.

70819168223, Image is virtual, opposite side of convex mirror.



70819168224. Image is real, same side of convex mirror.

Question Number : 16 Question Id : 70819121019 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

i T W7 O R Ol . O s i /R R
ol LA PESTS/ Ve L L $7 p L 2100/ e & 4 L 13§44 100 cm

ek o s (P e . W T :
s Vji"‘”'*f":ﬂ v '*:'"-f'-'--"-.f': 2lo S (F1nl 25 em $akpy V'"’.;—g;_‘:flv e |f] =40 cm
Options :
I T T N L o
70819168221, = ¢=F b /U LILIVL

70819168222, = ¢V ==L

P 1":'.’.’- 21 > g . -
70819168223, = = Vet e U010V
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Question Number : 17 Question Id : 70819121020 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In a Young's double slit experiment two slits are separated by 2 mm and the screen is placed
one meter away. When a light of wavelength 500 nm is used, the fringe separation will be :

Options :

70819168225, | mm

70819168226, 072 mm

70819168227, 0.50 mm



70819168228, U-22 mm

Question Number : 17 Question Id : 70819121020 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

70819168225, 1 mm

70819168226, V.75 mm

70819168227, .50 mm

70819168228, -2> mm

Question Number : 18 Question Id : 70819121021 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Given below are two statements : one is labelled as Assertion A and the other is labelled as
Reason R.

Assertion A :  An electron microscope can achieve better resolving power than an optical
MICroscope.

Reason R : The de Broglie's wavelength of the electrons emitted from an electron gun
is much less than wavelength of visible light.

In the light of the above statements, choose the correct answer from the options given below :

Options :
70819168229 Poth A and R are true and R is the correct explanation of A.

70819168230. Both A and R are true but R is NOT the correct r:-xplanation of A.



70819168231. A is true but R is false.

70819168232, A is false but R is true.

Question Number : 18 Question Id : 70819121021 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 19 Question Id : 70819121022 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If A; and A, are the wavelengths of the third member of Lyman and first member of the
Paschen series respectively, then the value of Ak is:

Options :



70819168233, 7 : 108

70819168234, ' -

70819168235, 1+ 3

70819168236, 1 - °

Question Number : 19 Question Id : 70819121022 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options:

.,

70819168233, / : 108

70819168234, 7 *
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70819168235, -

70819168236, 1: Y

Question Number : 20 Question Id : 70819121023 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

LED is constructed from Ga-As-P semiconducting material. The energy gap of this LED is
1.9 eV. Calculate the wavelength of light emitted and its colour.

[h=6.63%x10"*Js and c=3x 108 ms~ 1|

Options :



70819168237. 654 nm and red colour
70819168238. 6564 nm and orange colour

70819168239. 1046 nm and blue colour

70819168240. 1046 nm and red colour

Question Number : 20 Question Id : 70819121023 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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h=6.63%10"34]s 4l c=3%108 ms ]

Options :

70819168237, =L 7 654 nm
70819168238, —+/-f! 634 nm

70819168239, — &+ 1046 nm

70819168240. ks irr'ﬂ' 1046 nm
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Question Number : 21 Question Id : 70819121024 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

As shown in the figure, a block of mass \ﬁ kg is kept on a horizontal rough surface of

coefficient of friction 35 The critical force to be applied on the vertical surface as shown

at an angle 60" with horizontal such that it does not move, will be 3x. The value of x will be

g B e
[g=10 m/s~; sin 60°= T,cos 60" = E]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 21 Question Id : 70819121024 Question Type : SA



Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 22 Question Id : 70819121025 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

{ \

A boy pushes a box of mass 2 kg with a force F =20 i 1[].;" N ona frictionless surface.

J
[f the box was initially at rest, then _ _ mis displacement along the x-axis after

10 s.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001



Question Number : 22 Question Id : 70819121025 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 23 Question Id : 70819121026 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A person standing on a spring balance inside a stationary lift measures 60 kg. The weight of
that person if the lift descends with uniform downward acceleration of 1.8 m/s? will be
__N. [g=10 m/sz]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 23 Question Id : 70819121026 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 24 Question Id : 70819121027 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The mass per unit length of a uniform wire is 0.135 g/cm. A transverse wave of the form
y=—021 sin (x+30t) is produced in it, where x is in meter and t is in second. Then, the
expected value of tension in the wire is x x 10 IN.Valueofris . (Round-off to
the nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 24 Question Id : 70819121027 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 25 Question Id : 70819121028 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A container is divided into two chambers by a partition. The volume of first chamber is
4.5 litre and second chamber is 5.5 litre. The first chamber contain 3.0 moles of gas at pressure
2.0 atm and second chamber contain 4.0 moles of gas at pressure 3.0 atm. After the partition
is removed and the mixture attains equilibrium, then, the common equilibrium pressure
existing in the mixture is xx 10 latm. Valueof xis

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 25 Question Id : 70819121028 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 26 Question Id : 70819121029 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A radiation is emitted by 1000 W bulb and it generates an electric field and magnetic field at
P, placed at a distance of 2 m. The efficiency of the bulb is 1.25%. The value of peak electric
fieldat Pis xx10"1V/m. Valueof xis . (Rounded-off to the nearest integer)

[Take £,=8.85x10 RCIN"1m"% ¢=3x10°ms™]
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 26 Question Id : 70819121029 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range



Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 27 Question Id : 70819121030 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

In an electrical circuit, a battery is connected to pass 20 C of charge through it in a certain
given time. The potential difference between two plates of the battery is maintained at 15 V.
The workdone by the batteryis .

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 27 Question Id : 70819121030 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 28 Question Id : 70819121031 Question Type : SA



Correct Marks : 4 Wrong Marks : 0

The circuit contains two diodes each with a forward resistance of 50 () and with infinite
reverse resistance. If the battery voltage is 6 V, the current through the 120 () resistance is

____________ mA.
D 0
A ATATY
I)Ii‘ 100 )
N MW
| 120 )
| | AN
6V

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001
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Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 29 Question Id : 70819121032 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The maximum and minimum amplitude of an amplitude modulated wave is 16 V and 8 V
respectively. The modulation index for this amplitude modulated wave is x x 10~ 2 The value
it o

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 29 Question Id : 70819121032 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 30 Question Id : 70819121033 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

In a series LCR resonant circuit, the quality factor is measured as 100. If the inductance is
increased by two fold and resistance is decreased by two fold, then the quality factor after
this change will be _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 30 Question Id : 70819121033 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Chemistry Section A

Section Id : 708191942

Section Number : 3



Section type : Online

Mandatory or Optional : Mandatory
Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 80

Mark As Answered Required?: Yes
Sub-Section Number : 1
Sub-Section Id : 7081911222
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 70819121034 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The orbital having two radial as well as two angular nodes is :

Options:

3p
70819168251.

70819168252, 4d
70819168253, 4!

70819168254, °d

Question Number : 31 Question Id : 70819121034 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e
e

U . A T .
3..’;_..;_»3."__-_.::,*._:-:1',--.‘:,!';!-._:;.:,-,J;"r-s:_;'. (orbital) Jiag

Options :

70819168251, F



70819168252, *d

70819168253, 4

70819168254, 4

Question Number : 32 Question Id : 70819121035 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one is labelled as Assertion A and the other is labelled as
Reason R.

Assertion A : Dipole-dipole interactions are the only non-covalent interactions, resulting in
hydrogen bond formation.

Reason R : Fluorine is the most electronegative element and hydrogen bonds in HF are
symmetrical.

[n the light of the above statements, choose the most appropriate answer from the options
given below :

Options :
70819168255, Both A and R are true and R is the correct explanation of A

70819168256. Both A and R are true but R is NOT the correct explanation of A

70819168257, A 1 true but R is false

70819168258, A 1s false but R is true

Question Number : 32 Question Id : 70819121035 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 33 Question Id : 70819121036 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List-1 with List-1L

List-1 List-11
Electronic configuration AH in k] mol ~1
of elements
(a) 1s%2s2 (i) 801
(b) 1s2 257 2p‘4 (i) 899
(c) 1s22s22p? (i) 1314
(d) 1s?2s%2p! (iv) 1402

Choose the most appropriate answer from the options given below :
Options :
70819168259 (@) — (1), (b) — (iv), (¢) — (iii), (d) — (ii)

70819168260, (@) = (), (b) = (i), () — (i), (d) — (iii)



70819168261. (@) — (i), (b) — (iii), (c) — (iv), (d) — (i)

70819168262. (@) — (1), (b) — (iii), (c) — (iv), (d) — (ii)

Question Number : 33 Question Id : 70819121036 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

3 ii';.:ﬁ'r".z-:wi I[-:-f,-ri i I-:-"”"ﬁ'i

oo f | ey
(A;H in kJ mol 1) (JE_5 101805 #t5)
801 (i) 152252 (a)
899 (i) 1s22522p4  (b)
1314 (i) 1s22522p%  (0)
1402 (iv) 1s22522p1  (d)

Options :
70819168259 (a) — (i), (b) — (iv), (c) — (iii), (d) — (ii)
(a) = (iv), (b) = (i), (c) — (ii), (d) — (iii)

70819168260.

70819168261 (a) — (i), (b) — (iii), (c) = (iv), (d) — (1)

20819168262, (@) = (1), (b) = (iii), (¢) — (iv), (d) — (i)

Question Number : 34 Question Id : 70819121037 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List-1 with List-1L

List-1 List-11

(Ore) (Element Present)
(a) Kernite (i) Tin
(b) Cassiterite (i
(c) Calamine (iii) Fluorine
(d) Cryolite (iv) Zinc

Choose the most appropriate answer from the options given below :

ii) Boron

Options :
70819168263, (3) = (i), (b) = (1), (¢) — (iv), (d) — (i)

70819168264, (@) — (i), (b) — (i), (¢) — (ii), (d) — (iv)

20819168265, (@) — (i), (b) = (iv), (c) — (i), (d) — (iii)

70819168266. (a) — (i), (b) — (iii), (c) — (iv), (d) — (ii)

Question Number : 34 Question Id : 70819121037 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2ol Mg I Ty

| SO -y
(&!EFJ/"I?‘) (Ore) n.‘::.«[PA{
Tin (1) Kernite (a)
Boron  (ii) Cassiterite  (b)
Fluorine (1ii) Calamine  (c)
Zinc (iv) Cryolite  (d)
< > 4:".‘ b

Options :

20819168263, &) ~ (i) (b) = (1), () = (iv), (d) — (iii)



70819168264, (&) = (i), (b) = (i), (¢) = (ii), {d) — (iv)

70819168265, @) = (W (B) = (1), () = (1), (d) = (111)

70819168266, (a) = (1), (b) — (1i1), (c) = (iv), (d) — (11)

Question Number : 35 Question Id : 70819121038 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Statements about heavy water are given below.

A. Heavy water is used in exchange reactions for the study of reaction mechanisms.
B.  Heavy water is prepared by exhaustive electrolysis of water.

C.  Heavy water has higher boiling point than ordinary water.

D.  Viscosity of H,O is greater than D,0.

Choose the most appropriate answer from the options given below :
Options :
70819168267,  and B only

70819168268, ‘+ and C only

70819168269, <+ and D only

20819168270, ‘ Band Conly

Question Number : 35 Question Id : 70819121038 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

70819168267, =/ Bl A

70819168268, —~ &~ A

70819168269, —/ D' A

70819168270, —~ &/ A B

Question Number : 36 Question Id : 70819121039 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Find A, B and C in the following reactions :
NH,+ A +CO, — (NH,),CO,

(NH,),CO,; + H,0+B — NHHCO,
NH,HCO, + Na(Cl — NH,C1+C

Options :

20819168271, 4 HO ; B~ 0, €~ Na,(O;

70819168272, *o irwi R NeR,

70810168273, T oA b Sk ke =INEERCE,



A
70819168274.

Question Number : 36 Question Id : 70819121039 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
&bl CulBA i _.P"’:,f $ e
NH; + A + CO5 — (NH4)-CO4
(NH4)>CO5; +H>O+ B — NH,HCO,
NH,HCO; + NaCl - NH,C1+C
Options :

£ 50 : Vs 2 la~C.
70819168271, > ~H20:B =0z ;€= Nax O,

A-H,O;B-0;; C—NaHCO;
70819168272. & & :

A—-H,0,;B-CO,; C—-NaHCO,
70819168273. - - '

A—-0,;B—-C0O,; C—Na,CO,y
70819168274. - - -

Question Number : 37 Question Id : 70819121040 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Compound A used as a strong oxidizing agent is amphoteric in nature. It is the part of lead
storage batteries. Compound A is :

Options :
70819168275, PO

70819168276, | PO2



70819168277 1 P304

PbSO,
70819168278,

Question Number : 37 Question Id : 70819121040 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options:
70819168275. PO

PbO,
70819168276. -

Pb,0,
70819168277,

PbSO,
70819168278,

Question Number : 38 Question Id : 70819121041 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the following lanthanoids does not form MO, ?
[M is lanthanoid metal]

Options :
70819168279, Nd

70819168280. Y



70819168281, LT

70819168282, Yb

Question Number : 38 Question Id : 70819121041 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

L

¢ b MO, lanthanoids LI i

Options:
70819168279, INd

70819168280, Y

70819168281, LT

70819168282, '°

Question Number : 39 Question Id : 70819121042 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The presence of ozone in troposphere :
Options :

70819168283 protects us from the UV radiation

70819168284 protects us from the X-ray radiation



generates photochemical smog
70819168285.

protects us from greenhouse effect
70819168286.

Question Number : 39 Question Id : 70819121042 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

D OO Troposphere

Options :
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Question Number : 40 Question Id : 70819121043 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement I: A mixture of chloroform and aniline can be separated by simple distillation.

Statement 11 :  When separating aniline from a mixture of aniline and water by steam
distillation aniline boils below its boiling point.

In the light of the above statements, choose the most appropriate answer from the options
given below :

Options :

70819168287, Both Statement | and Statement Il are true



70819168288. Both Statement I and Statement 11 are false

70819168289. Statement 1 is true but Statement 11 is false

70819168290 Statement 1 is false but Statement 1l is true

Question Number : 40 Question Id : 70819121043 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

=

20819168287, ——- o I -uke o 1-uke

_._,:gi,_,'_,*.'s: -l o -l
70819168288.

70819168289. -

70819168290.

Question Number : 41 Question Id : 70819121044 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which of the following is “a” FALSE statement ?
Options :

70819168291. Carius tube is used in the estimation of sulphur in an organic compnund.
70819168292. Carius method is used for the estimation of nitrogen in an organic compound.
70819168293. Kjr_-ldahl s method is used for the estimation of nitrogen in an organic cnmpound.

Phosphoric acid produced on oxidation of phosphorus present in an organic compound

20819168294, is prr:cipitatr_-d as MgEPED? b‘., addmg magnesia mixture.

Question Number : 41 Question Id : 70819121044 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
¢ e skl Ut o

Options :

- i
1

70819168291. "‘:"’J"-’lb}lf”i Carius 'Z-I-;J“:Jf’k}"— — SO

i [T ST D [ R o o
e LS B 12 ~8 Carius &2 et b el o [ Lomalal
quh—.-k_,.lf""_...._.z =) C el VAl P W T T ]
70819168292.
Wi s )3 A8 Kjeldahl &L oo te o/ 20Ut
70819168293, ~== T ¥" = J —— U0 —/ 0k

- -q,'i ™ i | r 1 > = | | St ..fl roaa=le
p2 ! (magnesia) Wrrct e (b Mg,P,0; coiddIh e I T T

70819168294,

Question Number : 42 Question Id : 70819121045 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
For the given reaction :
CH =CHBr 1. NaNH,
| . — (&)
CH, 2. Red hot iron tube, 873 K (major product)

What is ‘A" ?
Options :
(|:H= CH—-NH,

-

CH,
70819168295,

CH,CH,CH,NH,
70819168296. e

70819168297. :

H,C CH,

CH,
70819168298. :

Question Number : 42 Question Id : 70819121045 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o

uiuwdfjv:'
*F]H=CHBf 1. NaNH, _ "
CHj 2. Red hot iron tube, 873 K (2,4 J‘ln:_l_ri)
felf A Y
Options:

70819168295.



CH=CH-NH,
|

CH
CH,CH,CH,NH,
70819168296. : e
70819168297. :
H3C CH3
CH,
70819168298.

Question Number : 43 Question Id : 70819121046 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

For the given reaction :

CH,CH,
- - Bl’z , .\:
TR T 1 } i
UV light (major product)
monobrominated
CN
What is "A’?
Options:
CH,CH,
Br
CN
70819168299.

70819168300.



CH,CH,4

CN
Br
\\(Hlff
CN
70819168301.

Br CN
70819168302.

Question Number : 43 Question Id : 70819121046 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

55

-.-:' J-:":. # ._;‘- -.: A
CH,CHj;
Br2 % JA!
UV light (Eﬁ.aﬁﬂu&},‘l
monobrominated
CN
el A7
Options :
CH,CHj
Br

70819168299. CN



CHyCHjy

@m

70819168300, Br

\CH/
70819168301.
CH,CHj
70819168302, BT

Question Number : 44 Question Id : 70819121047 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
| Hydrolysis B

‘ﬂi =
33K 7 (C,Hg0)

(C4HgCly)

B reacts with Hydroxyl amine but does not give Tollen’s test. Identify A and B.
Options :

70819168303. 1,1-Dichlorobutane and Butanal

70819168304. 2,2-Dichlorobutane and Butanal

70819168305. 1,1-Dichlorobutane and 2-Butanone

2 2-Di ; ; e
70819168306. <~ Dichlorobutane and Butan-2-one



Question Number : 44 Question Id : 70819121047 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

LT
5 ;K B
(C4HgCly) (C4HgO)

L -
- ] L ”
. -
o uIP-‘ i

e g T : T
(&30 B o A-;:«.‘J"w,ﬂ Tollen’s test = W/=-b/JF b L';_,-E il B

Options:
70819168303. 1, 1-Dichlorobutane and Butanal

7 93 _Dic : ane : -
70819168304, ' - Dichlorobutane and Butanal

70819168305 1, 1-Dichlorobutane and 2-Butanone

70819168306. 2, 2-Dichlorobutane and Butan-2-one

Question Number : 45 Question Id : 70819121048 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

I::lentif}-' the major pmducts Aand B rospoctivel}-' in the fnllnwing reactions of phc-nol ’

OH
o (i) CHCl;, NaOH Br, in C5, @
-
(ii) HyO 273 K
Options :
OH OH
Br CHO
and

70819168307.



OH OH
[ii:] andl[:i:]
Br

CHO

OH OH
Br
and
CHO
OH OH
CHO
and

70819168310. BT

70819168308.

708191683009.

Question Number : 45 Question Id : 70819121048 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

L 28 2330 B A 2 Moty LI Siiie
OH
() CHCly NaOH Br, in CS,
-
(ii) HyO* 273 K @
Options:
OH OH
Br CHO
and
70819168307.

70819168308.



OH OH

and
Br CHO
OH OH
Br
and
708191683009. CHO
OH OH
CHO
and
70819168310,  °F

Question Number : 46 Question Id : 70819121049 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement 1 : o-Nitrophenf}I is steam volatile due to intramolecular h}-’drogen bonding.
Statement 11 : o-Nitrophenf}I has high me[ti_ng due to h}-'dmgen bondi_ng.

[n the light of the above statements, choose the most appropriate answer from the options
given below :

Options:

70819168311. Both Statement I and Statement 11 are true

70819168312. Both Statement | and Statement 1l are false

70819168313, Statement | is true but Statement 1l is false



70819168314, Statement 1 is false but Statement 1l is true

Question Number : 46 Question Id : 70819121049 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

= i
e o i . ] ol A -
LTI = R L P AW L

'T i [ i__ - b
L7 8 o-Nitrophenol «— 20 &4

-
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T ’
Lobibusr 1T ke

> . B
T e el ol O - y
e blebloslia sl 25 n o-Nitrophenol « .l kil 0 Tyl

= . - -
oLl > " i

< foW |2 [ g W T - B ‘s

B — PV u—rlfr — 'FJ——' LW, L Y g ; '-'.-'|,:'|-‘ | % .I'll i e

Options :

-
=]
-
o e

70819168311, ~wro/ e I -Ukl Lgle

_,_,:."3..",_,'_,;'1_- || Py e

70819168312.
s )
70819168313, ~ ¢+ = wEES O

70819168314, ~— © T -YEC

Question Number : 47 Question Id : 70819121050 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An amine on reaction with bmzonc-sulpl‘.m‘l}fl chloride pmduces a cnmpound insoluble in
alkaline solution. This amine can be prepared by ammonolysis of ethyl chloride. The correct
structure of amine is :

Options :

CH,CH,CH,NHCH,4
70819168315. b i



H
CHACH,CH,N — CH,C
70819168316, 3 2GRN~ CHCHy

NH —CH,CH,CHj
70819168317. :

CH,CH,NH,
70819168318. ~ ° 2 2

Question Number : 47 Question Id : 70819121050 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

#I ¥y y P' L ||‘j';! v | Y ™ L; --' ..J| # T 'I'- L‘* H .'F-. r . = 5 . |' -: | -i
Sz a2 bRt b pb iz /) # - benzenesulphonyl chloride s¢7v-k

&
& .-. s,

L hesl (o s L,lfi.g;:-".-L‘-‘; ammonolyis < )}.'-'L-:{U'Lﬁ"'-b';,"Ll
Options :

70819168315, —1aCH2CHNHCH,

H

: _NH - CH,CH,CHj,

70819168317.

70819168316.

CH,CH,NH,
70819168318. =~ - -

Question Number : 48 Question Id : 70819121051 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

The structure of Neoprenc ig

Options:

«{»CHECH:CI—I—CHE—CHZ CH ]n
70819168319. CN
r:|21

[c:.H2 C—CH—CH2+H
70819168320.
%HNHH N ,FNHCHE%*
T )
N-_ rft~~:
NH
70819168321. |
]
CH,——CH—
70819168322. B

Question Number : 48 Question Id : 70819121051 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

P P [\.'uu[.n'ulm

Options :

—-CHyCH—CH— CH, — CH, CH

70819168319.

T
-cH, —Cc=cH—cH,~}-

70819168320.



—PPW\ENTNHCHE{;
X

NH
70819168321. |
- cH,—cn-]
| | In
70819168322. CN

Question Number : 49 Question Id : 70819121052 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Which of the following vitamin is helpful in delaying the blood clotting ?
Options :
70819168323, Vitamin B

Figo s e
70819168324, Vitamin C

ol : a
70819168325, " itamin E

70819168326. Vitamin K

Question Number : 49 Question Id : 70819121052 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Bl 8 ¢ (blood clott ny,J (WP bly iz

Options:



70819168323. Vitamin B

70819168324, Vitamin C

70819168325, Vitamin E

70819168326, * tamin K

Question Number : 50 Question Id : 70819121053 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

On treating a compound with warm dil. H,50,, gas X is evolved which turns K,Cr,0,
paper acidified with dil. H,50, to a green compound Y. X and Y respectively are :

Options:

X=SD_,T Y:{: H:)
70819168327. 3 15(504)5

70819168328, o2 Y=Cr0,

X = S‘D;,— Y a— 'CI'-;O-_S
70819168329. ; = s

X . S‘D"y,— Y = 'CI'-;{S-‘D_.I:I-_S
70819168330. % & ;

Question Number : 50 Question Id : 70819121053 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Lo : TEIR S P wde 1afe B . b (il i £ s (]
OIEeHy80, e fnlbys X Ll i b/ #LL (HySOy) sl i 7]

- - - = i i i
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: --;_"{"'r \sﬂ')(..‘-.i..,_.' k -.-"’-"’:h.-i:a'n'_-:.;':i'_-‘-'\_; -] P Ay I:\:.LI'J[:-}I:_-S'.—
g H n - ¥ ARt

T

Options :



X =503, Y =Cry(504)3

70819168327.

70819168328, + o2 ¥ =120

70819168320, o ¥ T

70819168330, 02 ¥ =Cra504)

Chemistry Section B

SectionId: 708191943
Section Number : 4

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required?: Yes
Sub-Section Number : 1
Sub-Section Id : 7081911223
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 70819121054 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The number of significant figures in 50000.020 =< 10 3 is
Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count : Yes



Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 51 Question Id : 70819121054 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

T

£ sl (significant figure) Ll ZILZ 50000.020 x 10~

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 52 Question Id : 70819121055 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

(dZY b

A certain gas obeys P(V_, —b) =RT. The value of ﬁ is —. Thevalueofxis
\dl’ /T

m
(Integer answer) (Z : compressibility factor)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 52 Question Id : 70819121055 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

s ab e (8ZY s S ol J T
s B T \@JT L:;C'Ils"-’h; PV —b)=RT U=/

= S \_: ..

(£ : compressibility factor) (,:'..-,.':‘_,""L.T,I:TJ
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 53 Question Id : 70819121056 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

For a chemical reaction A+ B =C+D

(A, H=80 kJ mol~!) the entropy change A S° depends on the temperature T(in K) as
A S9=2T (] K~ mol 1),

Minimum temperature at which it will become spontaneousis K. (Integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 53 Question Id : 70819121056 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



A+B=C+D JULL]

(A,HO =80 k] mol - 1)
AS®=2T. (J K~ 'mol 1) Ltw 7, T(in K) = AZos ASO
(k) — K losbsfile s ailionfe (b

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 54 Question Id : 70819121057 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

224 mL of 802{ s at 298 Kand 1 atm is passed through 100 mL of 0.1 M NaOH solution. The

: ) gk e :
non-volatile sofute produced is dissolved in 36 g of water. The lowering of vapour pressure

of solution (assuming the solution is dilute) | r’{j ,0=24 mm of Hg | is xx 102 mm of Hg,

the value of xis (Integer answer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 54 Question Id : 70819121057 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



-.'_

- " T, M ru g F -~ i e Y T
847" L_;'LJ'?»,’.T‘,:'..":-' Uk 100mL & 0.1 MNaOH ¥ SOy, 224 mL ¢ 1 atm 4298 K

[ EL Y 45

-
-~ - |‘f - |

4 . . IR f s a J vl [ i 1
1% 10~ A lowering of vapour pressure) (0 3ol B nd /S LBV o © gl,.-v"',ﬁghf’:ﬁ g

=il CH IR (P{I 1,0)=24 mm of HS} -< mm of Hg

i
(k) 7 /)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 55 Question Id : 70819121058 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A homogeneous ideal gaseous reaction AB, ) = A, 1 ZB(E} is carried out in a 25 litre flask
at 27°C. The initial amount of AB, was 1 mole an& the equilibrium pressure was 1.9 atm.

The value of KI’ is xx10~2. The value of x is . (Integer answer)
[R=0.08206 dm?atm K~ 1 mol 1]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 55 Question Id : 70819121058 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



T e | | v i -i L&, _..?‘ O
Sué AB, < tou/HALBL 25 litres ABygy = At + 2By JEo 0Ll 27°C

& m

- -
|

i = ) reexx10-2 =4 K, _v,u'l 9 (atm) 3Pl v 16

(asef 7t #) [R =0.08206 dm’atm K~ mol |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 56 Question Id : 70819121059 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Consider the following reaction
MnOjy +8H* +5e~— Mn*2+4H,0, E°=151 V.

The quantity of electricity required in Faraday to reduce five moles of MnOy is
(Integer answer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 56 Question Id : 70819121059 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



¢ e

:%-u Y/ | W LA
MnO; +8HT+5e~— Mn* 2+ 4H,0,E°=1.51V.

e E a3
o WO T M |
'y F

-
Guf fmrf ) = E,_,q._.:'f) L0 b U F0

MnO I L_'_I 5

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 57 Question Id : 70819121060 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

An exothermic reaction X — Y has an activation energy 30 k] mol 1. energy change
AE during the reaction is — 20 kJ, then the activation energy for the reverse reaction in kJ is
. (Integer answer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 57 Question Id : 70819121060 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

T.- fomr . , , T
QY -,_,-L‘T*I_.{'_ 30Kk] mol 1 E1dg ovs ' X =Y (exothermic mm'mm};_,.-L‘ﬂl,-.:..-l_x.,.:l
( g : | " I" I"': I 4-' o LZ‘ w b i [ - L s
_';H-'.ML',-H "f"f'-;»""] - l'\J |,_,- '-f'lr" ...v“"LF o ¥ ._U 1‘\_' _\LLJ |,_,,:+ A

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 58 Question Id : 70819121061 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

3.12 g of oxygen is adsorbed on 1.2 g of platinum metal. The volume of oxygen adsorbed per
gram of the adsorbent at T atmand 300K inLis .

[R=0.0821 L atm K1 mol ]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 58 Question Id : 70819121061 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

P -l [l
% ]

i 8 ) - " i F = ."",.. 2
6o~ 17 300K o 1atm #¢1/ (L adsorbent.< x (adsorb) —iesf=lkel/ 1.2 5= 1P/ 3.12

oy .
- ol s (adsorb) o1 451

[R=0.0821Latm K 1 mol "}
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText



Possible Answers :

5 to 5.001

Question Number : 59 Question Id : 70819121062 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Dichromate ion is treated with base, the oxidation number of Cr in the product formed is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 59 Question Id : 70819121062 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

- - # &
s [l = - ]

[ p S o : s 2 "y o 1 o b
e ri0x8 Cr s (product) :'w’.,_,lr--.?-.'._'!:;__u:;._:\_, C By v DRV VAL S

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 60 Question Id : 70819121063 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
Number of bridging CO ligands in [an{CD]m] is



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 60 Question Id : 70819121063 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

15

& LS (bridging ligands) X Ui 7L U [Mny(CO) ]

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Mathematics Section A
SectionId: 708191944
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80

Mark As Answered Required? : Yes



Sub-Section Number : 1
Sub-Section Id : 7081911224

Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 70819121064 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o TN i 0 i

If a and ; are perpendicular, then a x la \a > bJH is equal to :

Options:

P’

70819168341.

— —

al b

N

70819168342.

:
70819168343.|a‘ b

e

70819168344, @ * b

Question Number : 61 Question Id : 70819121064 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

— - =

- — [_>. ( ) - J: . ¥ —* i,
-~ il ax\laxlaxlaxb])) Mwie gl p o q 7
Options :
—
70819168341, U
4
1
—lal b
2

70819168342.



—>|4—>
b
70819168343.
— —>
ax b
70819168344,

Question Number : 62 Question Id : 70819121065 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If (1,5, 35), (7,5,5), (1, \,7) and (2\, 1, 2) are coplanar, then the sum of all possible values
of Ais:

Options :

70819168345, °

70819168346, °

70819168347.

70819168348.

Question Number : 62 Question Id : 70819121065 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

‘; - '-'l'

s U BN It (coplamar) #4201, 2) (L N, 7) «(7, 5, 5)¢(1, 5, 35) I

el
-

Options :



39
5,

70819168345.

39

70819168346. >

82
5
70819168347

44

70819168348, °

Question Number : 63 Question Id : 70819121066 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The intersection of three lines x—y=0, x+2y=3 and 2x+y=6is a :
Options :

70819168349, Kight angled triangle

70819168350. Isosceles triangle

70819168351, Equilateral triangle

70819168352, None of the above

Question Number : 63 Question Id : 70819121066 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

W2

ST (intersection) J'¢ 2x+y=6 . x+2y=3 cx —y=0 Ll



Options :

70819168349.
70819168350, = &~ or
70819168351,

70819168352, <Y1

Question Number : 64 Question Id : 70819121067 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(a+1Nfa+2) a+2 1
The valueof |(a+ 2)(a+3) a+3 1|is:
(a+3)(a+4) a+4 1
Options :
70819168353, (2T D@ +2)(a+3)
70819168354, (@ T2)(@+3)(a+4)
70819168355, ~ 2

70819168356. U

Question Number : 64 Question Id : 70819121067 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



@tdpa+2y atd 1

i fat+2)a+3) a+3 1

T la+3)at+4) a+4 1
Options:

a+1IWa+(a+3
70819168353, (@ T DAt 2)(a+s)

70819168354, @t 2)@+3)(a+4d)

70819168355, -

70819168356. L

Question Number : 65 Question Id : 70819121068 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The rate of growth of bacteria in a culture is proportional to the number of bacteria present
and the bacteria count is 1000 at initial time t=0. The number of bacteria is increased by

\2
b
20% in 2 hours. If the population of bacteria is 2000 after 5 hours, then [ is
l0g. (£) (loge2)
equal to :
Options :

70819168357, 2

e

70819168358.

oo

70819168359.

70819168360, 16



Question Number : 65 Question Id : 70819121068 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

-

| | sk

“ IR . s b, T i Y a1 O S ) -
b sy J(rate of growth){ A0 & % (bacteria)l AJ V blyahl & b (oL
= 1

SLAE20% o0 L gl & 2.2 1000 s PO L 5y t=0 SH(lil. & (proportional)
k

- S ) _k

J ' :n -{- l'r -'f. -:'-" T f'l-; ~ P CTEa Co
¥ 0 2000 QoL 0L prel 2 Ioge(g] /1.ty (increased)

Options:

I~

70819168357.

70819168358.
70819168359.

70819168360. 10

Question Number : 66 Question Id : 70819121069 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In the circle given below, let OA =1 unit, OB=13 unit and PQ L OB. Then, the area of the
triangle PQB (in square units) is :

y M
| ‘}H

D\ A ;f B

Q
Options :

=

24 Jf

70819168361.

70819168362, 2433



70819168363, 2632

)

]

70819168364, 263

Question Number : 66 Question Id : 70819121069 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(L061E,) 36 PQB &bhes PQ LOB s OB=13 3§1 0A =1 M1 Z2 Pl taiblni sl

= e

y.ﬂ
P

/

Options :

24,2
70819168361.

2443
70819168362.

~
70819168363, 20¥2

263
70819168364,

Question Number : 67 Question Id : 70819121070 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



|rﬁ_~,-m|:'(l th) u.*m'l:'(l I h}li
lim 24 2 = 2 \ ig:
h—0 | V3h(+/3cosh — sinh) ]

The value of

Options :

W|N

70819168365.

-_,.;|,4;..'

70819168366.

fi
70819168367. V3

9
70819168368, 4

Question Number : 67 Question Id : 70819121070 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

J\ﬁsin[g -I-h] —cns{’ + h.}\

y .35 ( lim?2 =ib: = 2
= ==V h0 J3h(y3cos h — sinh)
Options :

2

3
70819168365.

4
70819168366,

2
70819168367, V3

3

70819168368,



Question Number : 68 Question Id : 70819121071 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The maximum slope of the curve y = —x* — 5x” + 18x% — 19x occurs at the point :

b3 | =

Options :

70819168369. (0. 0)

)
70819168370, (& 2)

_(1 21
70819168371, * 2/

70819168372, (2 9)

Question Number : 68 Question Id : 70819121071 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

s ins 5 L 2
_..’.1_._,';“’.‘._,}-;.?.:‘_',.;';:-' ( maximum slwpu) k;'l_tr“,"("’ a8 e EI =5 +18x" - 19x ¢
Options :
(0, 0)
70819168369.
(2 2)
70819168370.
(5,2

70819168371,



2,9)
70819168372.

Question Number : 69 Question Id : 70819121072 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The value of _|= CGS_J: dx is:
1 +3

Fig |

Options :

e

70819168373.

70819168374, 2

o

70819168375, =

70819168376, =™

Question Number : 69 Question Id : 70819121072 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

7 Lﬂ"i X
;[ l+’%‘

Options :

b | 5

70819168373.

IJ
=

70819168374.



b1
70819168375 *

4
70819168376.

Question Number : 70 Question Id : 70819121073 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The number of seven digit integers with sum of the digits equal to 10 and formed by using
the digits 1, 2 and 3 only is :

Options :

70819168377. 42

70819168378. *

=]
=l

70819168379.

i o
-2

70819168380.

Question Number : 70 Question Id : 70819121073 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T ’ ] ; . -
J i i S N T ol T i U T TY E
T el el sl 10 o5 v oS 25 TInlLEL /w18 3 .l 2 41

Options :

42
70819168377.

-
)

70819168378.

70819168379.



]2
70819168380. ~

Question Number : 71 Question Id : 70819121074 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

: . S . ; 1
The maximum value of the term mdependent of 't in the expansion of [tp |

\ /
where xe (0, 1) is :
Options :

10!

[

70819168381, V3(5)

70819168382.

70819168383.

|
70819168384, °')

Question Number : 71 Question Id : 70819121074 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o

= hE ) ) - - .
(maximum value) = I‘Jl_: (independent of t) ¢/l 't' (&

/ 1 310
1 {1_I}wl

tx3 +
t

b ;

xe(0,1) Wi <

']



Options :
10!

—

J3(51)?

70819168381.

70819168382.

3
70819168383.

70819168384.

Question Number : 72 Question Id : 70819121075 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let R={(P, Q) | P and Q are at the same distance from the origin} be a relation, then the
equivalence class of (1, —1) is the set :

Options :
S={(x, y) | x22+2=4)

70819168385.
B3 s
70819168386, > (& ¥) | ¥ +y==2}

20 s L, I O
70819168387, > (& ¥) | ¥ +y"=1j

20819168388, 5= (® ¥ | ¥ +y*= 2}

Question Number : 72 Question Id : 70819121075 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

equivalence ) ._,‘I_Ff;',:',:i (1,.=1) .r’;. ,_:‘L’:.._:I{\_,j,;}-’ EL,'LJ:L et Qi PUEIR=(P, Q) ‘i_,"f
- x(class

Options :

S={(x, y)  x2+ y2=4}
70819168385. : )

70819168386, -~ (. ¥) =+ y==2

i-"-«.= i 1_ 1='g
70819168387, > W y) =t y==1j

S={(x, y) | 22+ 2= 2 }
70819168388. : E

Question Number : 73 Question Id : 70819121076 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let A be a symmetric matrix of order 2 with integer entries. If the sum of the diagonal
elements of A% is 1, then the possible number of such matrices is :

Options :

70819168389. !
70819168390, 4

70819168391, ©

70819168392, 12



Question Number : 73 Question Id : 70819121076 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

- = & -
- l'-. 2 i L] ":: 4 ™ > ke . r'r' ; :i-“ i :'-\.": :".
gl A2 s(gbsle 2 (order) »u60 < (symmetric matrix) ¢ ff_,blr-'..._-'.ﬁx &J/

o we S i 1 i diagonal elements) /¢
Options:
1
70819168389.
4
70819168390.
5]
70819168391.
12
70819168392.

Question Number : 74 Question Id : 70819121077 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let f be any function defined on R and let it satisfy the condition :

fO-fy)| = |x-y)?,vV(xyeR
If f(0) = 1, then :

Options :

70819168393, /() > 0. 7xe R

70819168394, /(1) <0 Fx =R

70819168395, J(¥) =0, vxe R

70819168396 f(x) can take any value in R



Question Number : 74 Question Id : 70819121077 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

-

N L oS R -
(condition) brwd = 0l Vs R 2

=4 |

s fl0)y =1/ '_:_;.-:‘,";,*‘z':" f@-f) = l(x-y2,¥V(x,y)eR

Options :

iy | S
70819168393, /1) 70 Ve R

f(x)<0,¥Vxe R
70819168394. -

f(x)y=0,vxe R
70819168395,

2 I.:'-.:.__:*f.,_:{,_:vux R~ fix)
70819168396.

Question Number : 75 Question Id : 70819121078 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A fair coin is tossed a fixed number of times. If the probability of getting 7 heads is equal to
probability of getting 9 heads, then the probability of getting 2 heads is :

Options :

b
70819168397, 2

1
70819168398, 2

70819168399.



15
14
70819168400. 2

Question Number : 75 Question Id : 70819121078 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

&

1 :.’:_ Al L ._,Ii:-’l o in ._,Fbaz' 9 .J 1 \_;..__ ¥ ._,FL? (heads) » 7 /1 = :.':.l'_l L—j:| J:"r‘:mf -_f;:i_- ..-_1_-'
""_;' ul':JI-JL-J’-‘._,F;P (11 L‘ull{.‘i}‘f'
Options :
15
28
70819168397.
15
QT
70819168398.
15
ZT
70819168399.
15
2I4
70819168400.

Question Number : 76 Question Id : 70819121079 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

] | -1 -1 y
. sin X cos X tan "1 o g
If = = L :0 < x <1, then the value of CDS| | is :
a b C \a+b)

(s

Options :

-

70819168401, 1 ¥~



-

1 '
70819168402. VY

70819168403.

2y
70819168404,

Question Number : 76 Question Id : 70819121079 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

£ . —1 -1 1 -

- ~ IIC . - ol ] i o

i | coq |E siIn X _ €05 X _ tan H;[%ilﬂil,ﬂ
\_ﬂ"‘b/’ a b C

Options :

70819168401.

70819168402.

70819168403.

1 - };2
2y
70819168404.

Question Number : 77 Question Id : 70819121080 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

25
In an increasing geometric series, the sum of the second and the sixth term is — and the

product of the third and fifth term is 25. Then, the sum of 4th gt and 8th terms is equal to:
Options :

70819168405. 26
70819168406. 20

70819168407.

70819168408, 2

Question Number : 77 Question Id : 70819121080 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

g D o -

I 9 . - . . 2 [} -
sl o et 56 (sixth) U2 ol (second) 4 % (geometric series) 7 (A4 0n( 4 ok!

K6 @) T (61) & ¢ (@) 57 25 ALK (fifth) £ Lo (third)

Options :

70819168405.
30
70819168406.

70819168407.

35
70819168408.



Question Number : 78 Question Id : 70819121081 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
: ) vy B A2 NP 3D
The sum of the infinite series 1+ — + — + —4— + — + &= + ...... is equal to :
f"'r 3_ 3.3 3—1 3'3
Options :
9
70819168409. *
n
70819168410. 4

13

70819168411. 4

15
70819168412, 4

Question Number : 78 Question Id : 70819121081 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. .
i S ..::...’ 1+ —+
B

. ¢
e ity e * Y

7 12 17 22 1
) + =+ 7+ 5 * - (infinite series) " .51

Options:

70819168409, 4

70819168410. 4

70819168411, 4



15

70819168412, 4

Question Number : 79 Question Id : 70819121082 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Consider the three planes
Py : 3x+15y+21z=9,
P,:x—3y—z=5, and
Py : 2x+10y +14z=5
Then, which one of the following is true ?
Options :

70819168413. P, and P, are parallel.

70819168414, L1 and Py are parallel.

20819168415, T1- P2 and Py all are parallel.

70819168416, | 2 @nd I3 are parallel.

Question Number : 79 Question Id : 70819121082 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

- -
. o i &) -~ -
-3 ST U

£

P1:3x+15y+212=9

=
)
-
=+
i
—
l_'\-\_r'
=
+
f—
s
=1
(] |
&
-

Options :



_._,".v‘_;;'-'_.:‘ L Pl
70819168413. ° -

S Py usl Py
70819168414. - -

_._,.:,_".:,.-'I..":‘ FI; a1l Pl_. Pl.
70819168415.

SUIF Py Py

70819168416, - : 3

Question Number : 80 Question Id : 70819121083 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
100 n

The value of Y J‘ e* Ml dx, where [x] is the greatest integer = x, is :
n=1 n—1

Options:

70819168417, 100(1~¢)

70819168418, 100(1 +e)

70819168419, 100¢

70819168420, 100(e —1)

Question Number : 80 Question Id : 70819121083 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



_— o . 3 o il =
e S X M e | X ] SN,

Options :

70819168417, | (1~ ©)

100(1 +e)
70819168418.

70819168419, 1 00¢

100(e — 1)
70819168420.

Mathematics Section B

Section Id :

Section Number :
Section type :
Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :

Section Marks :

Mark As Answered Required? :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Question Number : 81 Question Id : 70819121084 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

708191945
6

Online
Mandatory
10

5

20

Yes

1
7081911225

Yes



The difference between degree and order of a differential equation that represents the famﬂ}-'

7 : 2 & a | i
of curves given by ¥~ = ﬂl eyl Ois .

\ =
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 81 Question Id : 70819121084 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

al

=
W

Ja | :
e : ; i = o d -+_" > s
¢ (differential equation) =lsl+(§ 2L ¥ =2/ X 5 |sa> 00 AN ULl

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 82 Question Id : 70819121085 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The sum of 162" power of the roots of the equation x*~2x?+2x-1=0 is
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes



Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 82 Question Id : 70819121085 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

i

4 : i e < A . ’ [
e s K (power) of 1621 il x3—2x2+2x —1=0 =i~

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 83 Question Id : 70819121086 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The area bounded by the lines y=||x—1|—-2|is ____

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 83 Question Id : 70819121086 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 84 Question Id : 70819121087 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
dl | siny

If y=y(x) is the solution of the equation e”"cosy e~ cosx = cosx, y(0)=0; then

. (w) . 3 (7 L tml.
1 ylkgj | ?y|;)‘ | \_Eﬂﬂ isequal to .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 84 Question Id : 70819121087 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

dy

- o - 5|t‘||J.r siny e —— i i o
[y 5 ul0Yy=0 COsYy — + e COS5X COSX =lal=_ y=uix) .|
JE y(0) e = y=y()
- - T ki 'Iq, '{"I.T \ '1 Tr"-.
i 1+y|—|+ —U — |+ =¥ |
. \ E) r 2 '.'rll -' -\IIIE ’ (! 4

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 85 Question Id : 70819121088 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The number of solutions of the equation logy(x—1)=log,(x—3)is .

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 85 Question Id : 70819121088 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

o e

i WP SSL logy(x 1)=logs(x —3) =lsb—

[

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 86 Question Id : 70819121089 Question Type : SA



Correct Marks : 4 Wrong Marks : 0

The number of integral values of 'k’ for which the equation 3sinx + 4cosx =k + 1 has a solution,
ko Rag.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 86 Question Id : 70819121089 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

y -

¢ 3sinx+4dcost=k+1 bl "2 10 (Integral values) = (% 0 'K’

v
-~ keR

Response Type : Numeric

Evaluation Required For SA: Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 87 Question Id : 70819121090 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Let (A, 2, 1) be a point on the plane which passes through the point (4, —2, 2). If the plane is
perpendicular to the line joining the points (-2, —21, 29) and (-1, —16, 23), then

Ry

|—‘ — -4 isequalto .
V11 11

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 87 Question Id : 70819121090 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

(=1, (=2, -21,29) bg§5 e Qi (4, -2,2) Bre BLG5 (,21) &7
. gl y
el o 4 yo (perpendicular) s,/ B il sie i ~16,23)
. \ . .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 88 Question Id : 70819121091 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
™

The value of the integral _[ sin2x |dx is
0

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 88 Question Id : 70819121091 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

-

"
-3 = ﬁﬂ sin2x | dx (integral) _fl’:'

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 89 Question Id : 70819121092 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
[f \.E{mszx) = (/3 — 1)cosx + 1, the number of solutions of the given equation when

|
: g

| R

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 89 Question Id : 70819121092 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
L

[hm - - g
x=|0, E} e UL TS I I Yo L ST qﬂ(&‘.nsz x) = (JH . ‘I]msx +1 .

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 90 Question Id : 70819121093 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

s

o (30) (30
Letm,n<s Nand ged (2, n)=1. I ."'r[l‘ 0 ‘ I 29‘ i ‘ Pl |2
g R

30 (30 "
. ‘ [ 'l‘j |:n-2 , then
..8}, (29}

\

n+misequalto .

( ‘n)
‘ Hu.ro.‘

1
=" |
Nl o

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 90 Question Id : 70819121093 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

(30 (300 (30} m 7
: J | + 1| ‘ =n-2" /i E];L-L{ (1 I'I‘j=1 Izl {m, l]} eN -—-::n.-";

30| + 29
g +
-' [ 0) (29

\
ks

4

-

i s e n+m
/
n
Ny~
(5] = "G )
LU
\k b

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001



